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Parallel  Circuits
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Circuit Redection
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Voltage Divider

e T L
Sokd " ' Ry
v/'_zgogy _“:/ I A Serles circut
H §30kJL so Ry= So+30+20
< g = lookn
$70KIV
G
s

v

ALY B an WvoH‘age ‘f‘a'p: with lespect to G

Vo X3 RA INA _Sf(H'ZO_

INAN2
VA= Ve— = LUUT U v
. RT {0 Xe)
Vg= V1 - —&E—: 200 - == = YoV
R 100
Current Divider |
r P11.2304
=l = -
. - GT g
ey 1\‘1,? p 2| $R=1H4
Gi;-ﬁ:;? - '
) 3 Tl%
! 1 47
y 3 ¥
A TR _‘-: 2‘4’-—'—-2_3_— S
' e %—4%6%36%449#
Tl gt il g
Gt =
G, - }—4 9
L =dy 580 T o0y $5 20 3-104
Yoo, / T R
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Mesh  Currents
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Thevenin's  Theorem
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Diodes

Diodes are Yhe basic Semiconductor device

Semiconductor means that under certain
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